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2.A.B =A +B (De Morgan's 2nd theorem)
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BHITC-9 | Determine output expression for the circuit shown below and simplify it using p, ,,
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Solution : The output cxpression‘for the circuit shown above is :
Y =[(A+B).C.D]

Using De Morgan's theorem: Y=(A+B) +C + D)
Y =(A+B)+C+D [ ~D=D]

~Y =A+B+C+D
¥41%3-8 | Find the complement of the expressions given below using De Morgan's theorem :

(i) Y =ABC+ABC
(ii) Y ==ABC+B0O
(iii) Y =(A+B+C)(B+0C)
Solution : .
(i) Y =ABC+ABC

Y =(ABC+ABC)
Applying De Morgan's theorem :

Y =(ABC).(ABC)
Again applying De Morgan's theorem to the each expression inside the brackets :

Y =(A+B+C).(A+B0O)

(i) Y =AMBC+BC)
Y =ABC+BC)
Applying De Morgan's theorem :

Y =A+(BC+B0C
Again applying De Morgan's theorem to the expression inside the brackets

Y =A+(BC).(BC)
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